PRACTICE 2B

Find the value of each of the following:
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Mrs. Larson bought 5 kg of prawns.
1 kg of prawns cost $8.
How much did she pay for the prawns!?

A baker sold 5 chocolate cakes a day.
Each chocolate cake cost $7.
How much money did he receive?

5 people spent $45 for lunch together.
They shared the cost of the lunch equally.
How much did each person spend?

. Jamie packed 25 cookies into packets of 5.

How many packets of cookies did she get!?

Carlos bought 3 kg of grapes.
How much did he pay!? ’

Lindsey paid $30 for 5 kg of clams.
What was the cost of 1 kg of clams?
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